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QUESTION 1

The application of the Contract Centralization pattern requires that runtime access policies be implemented. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

Which of the following statements is true? 

A. Enterprise service bus products commonly provide data model transformation features. 

B. Orchestration products commonly provide data model transformation features. 

C. The Service Broker compound pattern includes the Data Model Transformation pattern. 

D. All of these statements are true. 

Correct Answer: D 

 

QUESTION 3

An atomic service transaction requires that: 

A. alternative compensating logic is executed to undo changes that may have been committed by the services
participating in a transaction 

B. a service participating in a transaction either commit or rollback changes in response to the success or failure of the
transaction 

C. services be designed to be aware of all the other services that have also registered as participants in the same
transaction in order to exchange success or failure messages with them 

D. None of the above. 

Correct Answer: B 

 

QUESTION 4

When applying the Schema Centralization pattern, multiple services can form dependencies on the same centralized
schema. 

A. True 

B. False 
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Correct Answer: A 

 

QUESTION 5

For a given service inventory architecture you would choose between an enterprise service bus product or an
orchestration product, but you would not use both together. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 6

In the message exchange framework established by the application of the Reliable Messaging pattern, what roles are
typically fulfilled by service agents? 

A. service agents can process positive acknowledgements 

B. service agents can process negative acknowledgements 

C. service agents can load balance messages 

D. service agents can route messages based on their content 

Correct Answer: AB 

 

QUESTION 7

Protocol bridging features are a common part of enterprise service bus products and can be provided through the use of
adapters. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 8

Based on the publisher and subscriber roles established by the application of the Event- Driven Messaging pattern,
which of the following statements are true? 

A. a service, acting as a publisher, issues event notification messages to an event management program that is
responsible for broadcasting the messages 

B. a service consumer, acting as a subscriber, can selectively subscribe to specific events 
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C. an intermediate event management program enters the role of subscriber when accepting event subscriptions 

D. upon receiving a message associated with an event that a service consumer subscribed to, the service consumer
enters the publisher role 

Correct Answer: AB 

 

QUESTION 9

The Process Centralization pattern is most commonly associated with which service model? 

A. utility service 

B. entity service 

C. task service 

D. hybrid service 

Correct Answer: C 

 

QUESTION 10

Load balancing is commonly associated with which pattern? 

A. Atomic Service Transaction 

B. Intermediate Routing 

C. Service Broker 

D. Decoupled Contract 

Correct Answer: B 

 

QUESTION 11

Which of the following statements about the subscriber role established by the application of the Event-Driven
Messaging pattern is true? 

A. a service can have multiple consumers as subscribers 

B. a consumer can only subscribe to one service 

C. a service can only have one consumer as a subscriber 

D. All of these statements are true. 

Correct Answer: A 
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QUESTION 12

Which of the following statements are false? 

A. The application of the Policy Centralization pattern decreases the governance burden required to ensure that
common policies are kept synchronized over time. 

B. The application of the Policy Centralization pattern increases the amount of policy content in the service inventory. 

C. The application of the Policy Centralization pattern combines global and domain- specific policies into a single
location. As a result, the distinction between a global and domain policy is eliminated. 

D. The application of the Policy Centralization pattern requires that policies only be expressed with the WS-Policy
standard. 

Correct Answer: BCD 

 

QUESTION 13

The Process Centralization pattern: 

A. physically centralizes business process logic into a single location 

B. logically centralizes business process logic into a separate service layer 

C. physically centralizes task services into an enterprise service bus 

D. logically centralizes task services into an enterprise service bus 

Correct Answer: A 

 

QUESTION 14

Which of the following statements is true? 

A. The Enterprise Service Bus pattern is primarily concerned with message processing logic, while the Orchestration
pattern is primarily concerned with service composition logic. 

B. The Enterprise Service Bus pattern is primarily concerned with synchronous messaging logic, while the Orchestration
pattern is primarily concerned with asynchronous messaging logic. 

C. The Enterprise Service Bus pattern is primarily concerned with service composition logic, while the Orchestration
pattern is primarily concerned with message processing logic. 

D. None of these statements are true. 

Correct Answer: A 

 

QUESTION 15

The Reliable Messaging pattern requires: 

S90.08 VCE Dumps | S90.08 Practice Test | S90.08 Study Guide                                5 / 6

https://www.pass2lead.com/s90-08.html
https://www.pass2lead.com/s90-08.html
https://www.pass2lead.com/s90-08.html


https://www.pass2lead.com/s90-08.html
2023 Latest pass2lead S90.08 PDF and VCE dumps Download

A. the use of standardized service contracts in order to enable message atomic transaction details to be carried in the
message header 

B. a framework for temporarily persisting messages and issuing acknowledgements 

C. the application of the Official Endpoint pattern in order to enable acknowledgement features 

D. a framework capable of bridging disparate messaging protocols in order to exchange schemas between compatible
services 

Correct Answer: B 
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